F44E SRFRE MRFFERIGR

[REFIAFEEHIOY) =[AE]2FEEERS

AT

AT

N\ rdh

EEF NEE BRI NEE EEF NEE
1| = 2B8E 45 31FH 23 | = 2FERFE 65 27% 42 | = 2BEE 75 27F
151 2 | = 2oERE 4% 38F F 24 | = 2[EE 65 28%F 43 | = 2BEE 7% 28%F
3 | = 2ERE 45| 39F 25 | = 2FERE 65 29% CH | 44 | = 2BSFE 75 29%
4 | = ofERE 4% 40F 26 | = 25 65 30%F 45 | = 2BEE 7% 30%F
46 | = 2FEE 75 31FE
EEF NEE R NEE
5 | = 2BEfE 5% 37F 27 | = 2FERFE 65 1T EEF NEE
LVl 6 | = 2fEpE 5% 38F 28 | = 2[5 65 32%F 47 | = opEE 7% 32%F
7 | = 2BEFE 5% 39F Z5] | 29 | = 2BERE 65 33%F 48 | = 2BERE 75 33T
8 | = ofEpE 5% 40F 30 | = oM 65 34F 5| | 49 | = oBsE 7% 34F
31 | = 2FERE 65 35 50 | = 2FERE 75 35%
ZEF NEE 51 | = 2FERE 73| 36%F
9 | = 2EfE 5% 27%& EEF NEF
10 | = 2F5FE 531 28%F 32 | = 2F5FE 65 36F EEF NEE
S5 | 11 | = 2B5E 5% 29% 33 | = 2FEFE 65 37FH 52 | = 2[EfE 8% 27F
12 | = 2BERE 55| 30%F KB | 34 | = o5 6% 38%F 53 | = 2o[kpE 85| 28%F
13 | = 2BERE 5% 31%FE 35 | = 2FEFE 6% 39%F L3 | 54 | = 2BEEFE 8% 29%&
36 | = 2F5E 65 40%F 55 | = 2FERE 8% 30F
EZEF NEE 56 | = 2FEE 8% 31F
14 | = 2B5FE 531 32%F EEF NEE
2 51 15 | = 2BEFE 5% 33%& 37 | = 2FEFE 75 22% EEF NEE
16 | = 2F5FE 531 34%F 38 | = 2FEFE 75 23%F 57 | = 2FERE 8% 2%
17 | = 2fEE 551 35%& T3] | 39 | = 20EFE 75| 24% 58 | = 2FERFE 8% 33F
40 | = 2F8E 73 25%F T5 | 59 | = opEE 8% 34%F
EZEF NEE 41 | = 2fEFE 75| 263 60 | = 2FERFE 85| 35%
18 | = 2B5FE 631 22%F 61 | = 2F%fE 835 36&F
19 | = 2BERE 6% 23F
EH | 20 | = 2EE 65 24F EEF NEE
21 | = 2BEE 6% 25%F 62 | = 2[EE 9% 27F/
22 | = 2BEE 65 26%F 63 | = 2FEE 95 28%F
25 | 64 | = 2[ERE 9% 29%
65 | = 2FEE 95 30F
66 | = 2[E/FE 9% 31F
CREFIAFDRERITOY) =»[AEE]2MERS-IEFE
EEF NEE EEF NEE EEF NEE
412 | = 2[EFE 55 5% 432 | = 3MERE 2% 28%F 448 | = 3JREFE 4% 28F
413 | = 20EFE 535 6% 433 | = 3BEE 25| 29%F 449 | = 3[ERE 45 29%F
414 | = 2[EFE 55 7F 434 | = 3MERE 2% 30%F 450 | = 3REFE 4% 30F
415 | = 2BERE 55 8% 551 435 | = 3MERE 2% 31FE 5 451 | = 3RERE 4% 31FE
) [LA16 | = 2B 5% oF 436 | = 3FERE 25 32% 452 | = 3EEE 45 32%
417 | = 28EFE 5% 10% 437 | = 3[R 23| 33F 453 | = 3[ERE 45 33%F
418 | = 2[EFE 5% 11FE 438 | = 3[R 25 34F 454 | = 3MERE 45 34%F
419 | = 2[5FE 531 12%F 439 | = 3MERE 23| 35% 455 | = 3FERE 45| 35%F
420 | = 2EFE 5% 13%F
421 | = 2B5FE 531 14%F
EEF NEE EETF NEE
422 | = 2BEFE 65 5% 440 | = 3MERE 3% 28%F
423 | = 2F5FE 63 6F 441 | = 3[R 35 29%
424 | = 2BEFE 65 1FH 442 | = 3MERE 3% 30%F
425 | = 2RERE 651 8% 5| 443 | = SRER 3% 3%
LBl | 426 | = 2BEFE 651 9% 444 | = 3FEFE 35 32%F
427 | = 2F5FE 6%l 10& 445 | = 3MERE 3% 33F
428 | = 2FERE 6% 1% 446 | = 3BEE 35| 34FE
429 | = oFERE 6% 12% 447 | = 3MERE 35 35% |
430 | = 2[ERE 6% 13F
431 | = OMERE 631 143 |




